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Figure 1 Triaxial compression test
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3 ABC 3 0 3=po=100,200,300(kN/m?)
a),b) (Figure 1 )
ms=350(g) p <=2.68(glcm’) p w=1.00(g/cm®) e=V,/Vs
(Vy Vs ) p'=(c '+20 5)/3
q:O. 11 o. 31
a)0 1=0 3=po(kN/m?)
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b)o s=po(kN/m?) 01
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1 A 0 5=Po=100(kN/m?) b)
o 1=400(kN/m?) A V4=200.0(cm®)
(1) A Va=__ 1306 (cm?) Vua=___ 69.4 (cm®)
2) pa'=___ 200 (KN/m? ga=___ 300 (KN/m? e=___ 0531
2. B 0 3=Po=200(kN/m?) b)
o 1=800(kN/m?) B VE=190.0(cm®)
(1) B V= 130.6 (cm®) Vue=___ 594 (cm®)
2 , pg’=__ 400 (kKN/m?)  ge=___ 600 (kKN/m?) es=_ 0.455
3. =M p’ e=[ -A logep’ M T A
M= 15 r=_ 1114 A= 0110
4. 0 3=pe=300(kN/m?) C
(1) b) Pq g=___ 3x (p'-300)
2 pc’=__ 600 (kN/mP)  ge=__ 900 (kN/m?) ec=_ 0.410 C
Vo= 1841 (cm?®) Vo= 1306 (cm?) V= 53.5 (cm®)
(3) 0';= 1200  (kN/m2) o's= 300 (KN/m2)
(4) c'=0 @’
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o =P, 041 Po
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